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& E FEEM | B | & E Z fE b H TEEH | B L | & @ % B
SERVAN Z B | 10ke 1, 080 — | A FOER L 10 ke 3, 780 1,080
A A" Z 200 g . 54 32 | WhA = 5 10 kel 2,700 1, 080
LA = R 250 g 108 75 1 ST F & 10 ke 4, 860 1,620
ZEDOR & 200 g 54 32 | TAANLE— = B 270 g 378 194
E5 AT D B 200 g 64 43 | WD D> = R 270 g 378 194
FhE = R 8 ke 3, 024 756 | ZAMEDH g A 270 g 453 —
L A& x B 160 g 97 86 | T—ARRAT Y & [ 9 ke| 15,120 10, 800
2N A ™ 5 10 ke 648 — |
FEEEIZA DA EIRE 10 ke 1, 404 648
< = M 15 ke 972 216
F XY G S 10 ke 864 540
LA R B I& 10 ke 2, 700 1, 620
IV H G 5 ke 2, 484 1,728
SR/SCH = 5 5 kg 2, 268 —
k= R HE AN 4 ke 1, 296 —

B— = A 150 g 97 —
T x - BRE 10 ke 1,728 1, 620
rEhE = 5 10 ke 1, 836 1,728
A LWIT B 100 g 162 97
LH L B 100 g 59 43
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A FE < ALE A S 1ke 1, 782 756 | HY T AU 1ke 2, 160 1, 080
wmE < A K 1 kg 1, 458 756 || HY A e—| 1ke 1, 080 432
7 BRI 1ke 1,728 151 | 5= =D 1 ke 1, 836 1, 296
B T 1 ke 1,890 248 | A gL 1ke 1,512 626
A T E 1 ke 248 140 | FU A T & 1 ke 4, 320 1,188
AN A AT B IR 1 ke 777 453 | BTV = b 1% 172 54
TE N F = 1ke "1, 350 432
EH A = % 1 kg 1, 404 216
&4 = T 1 ke 1, 836 1, 296
INTE 85 1 ks 1, 404 540
VA AR A 1ke 1,728 367
s =B 1 ke 4, 320 183
&7 IR E 1ke 1,782 896
U7 & B 432

1 ke

1, 8336




